

$b = \frac{a+c}{r}$

$\{1\}, \{2,3,4\}, \{5,6,7,8,9\}, \{10,11,12,13,14,15,16\}$
 (۱) (۲) (۳) (۴)

$a_n = 2n - 1 \rightarrow$ تعداد n^2 اعضا $\rightarrow q^2 = 11 \rightarrow q = \sqrt{11}$

$a_1 = 1, a_2 = 1+a, a_3 = 1+a+a, \dots$
 $a_9 = 1 + 8a = 11 \rightarrow a = \frac{10}{8} = \frac{5}{4}$

$(1, 2, 3), (4, 5, 6, 7, 8, 9, 10, 11, 12), (13, \dots, 24), (25, \dots, 81)$

$a_n = n, 3n+1, 9n+4, \dots$
 $a_n = 3^n, 9n+3, 27n+11, \dots$
 $a_n = 2 \times 3^{n-1} + 3 - 1 = 2 \times 3^{n-1} + 2$

$a_n = \begin{cases} r^k & : n = 3k \rightarrow n = 3, 6, 9, \dots \rightarrow k = 1, 2, 3 \\ -k + f & : n = 3k + 1 \rightarrow n = 1, 4, 7, \dots \rightarrow k = 0, 1, 2, 3 \\ \lfloor \frac{n}{3} \rfloor + a & : n = 3k + 2 \rightarrow n = 2, 5, 8, \dots \rightarrow k = 0, 1, 2, 3, \dots \end{cases}$

$a_1 + a_2 + \dots + a_9 = 19$
 $1 + a + 1 + a + 1 + a + 1 + a + 1 + a = 19 \rightarrow 10a = 18 \rightarrow a = \frac{9}{5}$

$a_1 = f, a_2 = 1+a, a_3 = 2, a_4 = 0$
 $n = 4 \rightarrow k = 1 \rightarrow n_4 = f \rightarrow f + rd = 1$
 $n = 9 \rightarrow k = 3 \rightarrow n_9 = 11 \rightarrow 11 + 3rd = 11 \rightarrow rd = 0$

$a_n = 1/f, a_n = 14/r$
 $\frac{1}{x} \times x = 1 = -1/a$
 $a_{10} = \frac{(-1/a \times 10^2) + (14/r \times 10) - 1}{-1/a + 14/r - 1} = \frac{14}{11} = a$

$a_n^2 + bn + c = a_n$
 $a = -1/a$
 $(-1/a \times 10^2) + 10b + c = 14 \rightarrow 10b + c = 14 + 10/a$
 $ab + c = 19$
 $b = 4, a = -1/a, c = -1$

$a_f = b_r \rightarrow a_f + fd = b_r + rd' \rightarrow fd = rd' \rightarrow d = \frac{a}{f} d'$
 $a_n = b_v \rightarrow b_r + fd = b_v \rightarrow b_v - b_r = fd$

$b_{10} = 0$
 $\frac{b_{10}}{d} = \frac{b_{10} + ad'}{d} = \frac{0 + a}{a/f + d} = \frac{a \times f}{a + fd} = f$

$$q a_1^r = \omega a_1 a + r a_1 a$$

$$\frac{a_1}{d} \rightarrow \frac{a_1 + r d}{d} = \frac{d}{d} = 1 \checkmark$$

$$f a_1^r - r a_1 a = \omega a_1 a$$

$$\frac{r a_1}{\frac{r}{r} a_1} = \frac{q}{r} \checkmark$$

$$a_1 + r d = 0 \rightarrow a_1 = -r d$$

$$r a_1 (r a_1 - a) = \omega a_1 a$$

$$r a_1 + r d (r a_1 + r d - a_1) = (\omega a_1 + 1 \cdot d) a_1 \rightarrow r a_1 = \omega a_1 \rightarrow r d = r a_1$$

$$d = \frac{r}{r} a_1$$

$$r a_1^r + \frac{q a_1 d}{q a_1 d} + \frac{r a_1 d}{r a_1 d} + r d^r = \omega a_1^r + \frac{1 \cdot d}{a_1 d} a_1 \rightarrow r a_1^r + 4 d^r + a_1 d = 0$$

$$\frac{r}{q} a_1 + a_1 \times \frac{r}{r} a_1 \rightarrow r a_1^r + \frac{r}{r} a_1^r + \frac{r}{q} a_1 = 0$$

$$c, b, a \rightarrow r b = a + c \rightarrow b = \frac{a + c}{r} \quad \text{④} \checkmark$$

$$\frac{c}{r}, \frac{a}{r}, b \rightarrow \frac{a}{r} = \frac{c b}{r} \rightarrow b = \frac{a}{r} \times \frac{r}{c} = \frac{a}{c} \times q, \quad b = \frac{c}{r} \times q^r = \frac{a}{r} \times q^r$$

$$q \times r = r \times -1 = -r \checkmark$$

$$\frac{c + d}{b} = \frac{c}{r} \times q^r, \quad c + r d = \frac{c}{r} \times q^r$$

$$r d = \frac{c q^r}{r} - c \rightarrow \frac{c q^r - c}{r} = r \rightarrow q + r = 1 \rightarrow q = -1$$

$$c, b, a \quad \left. \begin{array}{l} c, r a, r b \\ d, d \end{array} \right\} \rightarrow \left. \begin{array}{l} b^r = a c \\ r a = r b + c \\ r b = c + r d \end{array} \right\} \rightarrow \left. \begin{array}{l} a = c q^r \\ r b = c + r d \end{array} \right\} \rightarrow \left. \begin{array}{l} r c q = c + r d \rightarrow r d = c(r q - 1) \\ r c q^r = c + d \rightarrow d = c(r q^r - 1) \end{array} \right\}$$

$$\frac{a q}{a a} = \frac{q \times q^r}{a a} = q^r = \left(-\frac{1}{r}\right)^r = -\frac{1}{r^r} = -4^r = -r^{-r} \quad \text{④} \checkmark$$

$$r = \frac{c(r q - 1)}{c(r q^r - 1)}$$

$$\Delta = b^r - r a c = r \omega \rightarrow \frac{r \pm \sqrt{r \omega}}{r} = \frac{-1}{r} \rightarrow q = \frac{-1}{r}$$

$$\frac{a_1}{(a_1)^r} + \frac{a_1}{(a_1)^r} = r \quad \frac{a_1 q^r}{(a_1 q)^r} + \frac{q a_1}{a_1^r a_1} = \frac{q^r}{a_1^r} + \frac{q}{a_1} = r \rightarrow \frac{q}{a_1} \left(\frac{a_1}{a_1} + 1 \right) = r$$

$$\frac{a_1^r}{a_1^r} = r \quad \frac{q \times a_1}{a_1 q} = \frac{a_1}{q}$$

$$\frac{q^r}{a_1^r} + \frac{q}{a_1} = r$$

$$\left(-\frac{1}{r}\right)^r + \frac{1}{r} = r \rightarrow \frac{q}{a_1} = 1$$

$$\left(\frac{q}{a_1} + r\right) \left(\frac{a_1}{a_1} - 1\right) = 0 \rightarrow \frac{q}{a_1} = -r$$

$$a_1^r = \sqrt{a_1} \rightarrow a_1^r = a_1^{\frac{1}{2}} \rightarrow a_1^r = a_1^{\frac{1}{2}}$$

$$a_1 \omega = r v \rightarrow a_1 q^r = r v$$

$$\text{④} \checkmark$$

$$a_1 r q^r = r v \quad a_1 \times \frac{1}{2} = r v \rightarrow \frac{1}{r} - \frac{1}{r} = \frac{r - r}{q} = \frac{1}{4}$$

$$\sqrt{a_1} q^r = r v$$

$$q^r = \frac{r v}{\sqrt{a_1}} = q^{\frac{1}{2}} = r v \rightarrow q = r^2$$